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T-71-9" REINFORCED CONCRETE PAVEMENT | B-33-3" BITUMINOUS MACADAM BASE COURSE (CONT.)
Marginal Road (Rush) N22 Sta. O +61.90 to S5ta.39+29.72 = 386782 x 24.5%:9=10529 5q.Yds. Freeway Westbound Sta. 100+00 to Sta. 114+34.43 = 143443 x |15 + 9 = 2391 Sq.Yds.
Ma.rgina.l Road(Camee"H) Ne3 Sta. O0+97.60 to Sta. 56 +19.95 = 552235 x24.59+9= 15033 Sq.Yd-s; ' ' i Sta. | 1 4+34.43 {o Sta. 116 +28 = 9357 x 10 + 9 = 215 Sq.Yc]s.
~Vine St Sta. 116400  to Sta.117+20 = 120 x58 ¥9= T73 35q¥ds. 3 X Sta. | | 4+34.43 o Sta. 116+28 = 19357 x 5 +9 = 108 SqVYds.
e Sta, 117420 4o Sta.ll8+50 = 130 x56 9= 809 Sq.Yds. T “ Sta. | 17+72.50 to Sta. 120+58 = 23550 x 5 +9 = |55 SqYds.
“ Sta, 118450 to Sta.12(+80 = 330 x58 9= 2127 35q.Yds, " Sta. | | 7+72.50 fo Sta. 121+ 44.837 = 36542 x 10 +9 = 406 SqYds.
om Sta. 121 +80 +o Sta. 126 + 50 = 470 x506 +9= 2924 Sq.Yds. it ' Sta. 122+59 to Sta. 125+ 83.68 = 32'3_.52 x 10 + 9 = 359 Sq._Ycls.
wo Sta. 13146493 to S5ta.135+00 = 33507 x6® +95 2569 5q Yds. 1 " Sta. 127+97.32 to Sta. 129+ 13.72 = 116.40 * 10 +9 = 129 SqYds.
W 2' Offsefs @ Ramps 9, 10,11,412 = = 122 x 2  +9= 27 95qYds. " " Sta. 120+58  to Sta. 129+ 13.72 = 85572 x 5 +9 = 475 SgYds.
Slab Bridge Marg. Rd. N23 Ota. 24 +23.49 to Sta. 25+02.5). =  —T79.02 x?24.5 9= —-215 Sq.Yds. " t Sta. 130+79.28 +o Sta. 134+ 80 = 406.21 x |0 + 9 = 451 Sq.Yc's..
Lokeland Blvd.Relocated S5ta. 6.+ 00 to Sta. 26+09.03 = 22090> % 29 ~ 9= 7118 5%‘%13 ' ' Sta. 134+80 to Sta. 139+ 03 = 423 X 10 + 9 = 470 Sq.Yds.
. . | | f BN L " Sta. 139+03  +o Sta. 146+ 16.64 = 722.83 x10 +9 = 803 S5qYde.
B ' S | b " Sta. 146+16.64 to Sta. 155 +41. 40 = 92476 x |0 «+ 9 = (028 Sq.Yds.
| " ‘ ' . vg L " g:a. :§>+79.28 to ?;a ll_sls +4:1..f,,8 =:Ia4@2. 12 x l5 + g = ;-3@8 ngds.
| L iI-/- = | . = 41,694 Yds, te ' Sta. |156+72.91 to Sta. 176 + 53. =1930.83 x 10 + 9 = 220] 8SqYds.
TOTAL T-71-9" REINFORCED CONCRETE PAVEMENT ’ ! " " Sta. I16+$§(_.7§- Io Sta. 1719+53.70 = 300.80 x 10 + 9 = 334 g:.vjs.
" " Y Sta. 185+77.33 fo Sta. [95+ 14.24 = 936.91 x 10 +9 = 1041 SqVYds
B-33-3" BITUMINOUS MACADAM BASE COURSE " " Sta. 156 +72.91 o Sta. |95+l; 24 =3 5_41-.3-2 x 5+9 = 2|34 sg.Yas.
| | w | | Y t . G+79.26 40 Ste. + =123} X + 9 = .Yds.
Freeway Eastbound 510100400 to Stall4+3443 = 143443x15 + 9 = 2391 SqVYds. 3 ’ o gl e e BN v 4210 - '531 10 v 10+ - 257 Sivue
) Sta. 11443443 o Sto.l16+28 = 193.57x10 + 9 = 215 $q.7¥ds. I I Sta. 216 +96.49 to Sta. 234+ 69,16 = 177267 x 10 +9 = 1970 Sq.Yds.
) ) Sta.[14+34.43 o Sta.l16+28 = 19357 % 5+ 39 = 108 9q ¥ds. " T Sta. 196+79.26 to Sta. 234+ ¢916 =3789.90 x 5+ 9 = 2105 SqYds.
“ o Sta. | 1T71+72.50 to Sta.120+58 = 23550 x § + 9 = | 159 Sq.Yds. . "o Sta. 236 + 160 4o Sta. 291 + 88“ = 5570. 51 x |5 + 9 = 0284 Squs
) Sta. [17+72.50 to S1al20+58 = 28933 x10 + 9 = 322 SqYds “ Y Sta. 293 +25.53 to Sta. 299+ 2174 = 596.2| x |15 +9 = 994 Sq¥ds.
H ' Sta. 120+ 58 to S+a|23*f372 = 855.72 X 5+ 9 = 475 Squs ‘v ' Sta. 300 +80 to Ste. 304+ 02.76 = 320.11 *x |0 + 9 = 356 SqYCIS
" " Sta.[24+88.56 to Sta.l29+13.72 = 42516 x10 + 9 = 472 SqYds. y " Sta. 299+21.74 to Sta. 306+ 20 = 698.26 x 5 +9 = 388 SqYds.
¥ L Sta.l30+79.28 to Sta.l34+80 = 39588 %10+ 9 = 440 SqYds. X " Sta. 306+20  to Sta.310+54.21 = 434.2( x 15 9 = 724 SgYds.
) ) Sta.134+80  fo Sta.l39+03 =~ = 423 ~x10 + 9 = 410 Sq Yds. ¥ T Sta. 312+82.19 to Sta. 314+ 4220 = 160.0l x 10 +9 = 178 SqYds.
, . Sta.l41+15  to Sta.ld6+16.64 = 49387 x 10 + 3 = 549 S5q¥ds. o " Sta. 315454  to Sta. 317+ 90.42 = 236.42 ¥ 10 +9 = 263 S5qYds.
y ) Sta.146+16.64 to Stal55+41.40 = 92476 x 10 + 9 = 1028 Sq Yas. X " Sta. 320+04.06 to Sta. 323+ 03.35 = 299.29 x 10 +9 = 332 Sq.Yds.
" ! 5ta.130479.28 to Sta.155+41.40 = 2462.12 X 5+ 9 = 1368 9q Yde. Y y Sta. 323+03.35 to Sta. 335+ 05.71 = 1202.36 x 10 +9 = 1336 S5q Yds.
) Sta.156+72.91 to Sta.I76+53.79 = 38088 10 + 9 = 2201 S5qYds v Sta 312+82 |9 to Sta 335+ 057 =222352% 5+ 9 = 235 SqVYds.
1 " Sta. 183+53.63 to 5ta.l85+77.33 = 22370 %10 + 9 = 248 5qYds. (Slab  Bridge) Sta, 260410.49 to Sta 2604+ 395l = — 29.02 x 15+ 9 =— 48 Sq.Yds.
y e 5ta.185+77.33 to Stal95+(4.24 = 93691 x10 + 9 = 1041 $SqYds. | | |
X Sta.156+72. 91 io Sta.195+ 1cf.24 = 3841.3% x g + 9 = 2|34 sq.\\((a-s, ’
S $1a215+96.49}c Sfa2l6+96.49 = 100 x10 + 8 < 11l Sq¥ds R Sle 513354 fo St 1148745 - 66351 x 1149 - 811 sovde.
¥ b Sta.216+96.49 to 5"’0.2344'69'6 = |772.067%10 + 9 = 1970 Sq.Ycls. | Ramp No. 2 Sta. 2+00 {0 Sta. ‘54_ 3394 = 3]7.10 * 8 +9 = 282 Sngs
y ) Sta.196+79.26 to 5ta234+69.16 = 3789.90% 5 + 9 = 2[05 Sq.Yds. NN Sta. 2+00  to Sta. 5+33.94 = 347.27x 3+9 = 116 S5q.Yds.
N y 5ta.236* 17.60 to Sta.291+88.11 = 55710.51 * 15 + 9 = 3284 SqYds. noow Sta. 5+33.04 to Sta. |+ 9745 = 66351 x || +9 = &Il SqYds.
N ) 51223342553 to Ste233+2174 = 53621 XI5 + 9 = 394 Sq¥ds Ramp No. 3 Sta. |+95.07 o Sta. 10+28.59 = 833.52 x 8+9 = 7T4] SgYde.
y S51a.302+74.96 to 5ta306+20 = 34859x10 + 9 = 387 Sqy¥de PR Sta. 3400  to Sta. 10+28.59 = 72859 x 3 :9 = 243 SgYds
" ) Sta.299+21.74 to 5ta.306+20 = 63826 x 5+ 9 = 388 SqVds. LI Sta. 1408.28 te Sta. |+9507 = 8679 x 8:9 =  T7 Sq.Yds.
; ) $ta.306+20  to Sta310+34.21 = 43421 x 15 = 9 = 124 S5qYds. Ramp No. 4 Sta. 4+34.98 to Sta. T+ 65.64 = 330.66 x || +9 = 404 S5qYds.
| 51e.312+82.19 to 5ta.314+42.20 = 16001 ~10 + 9 = 178 9q Yds. Ramp No. 5 Sta. 4+89.36 to Sta. 15+ 91.49 =(102.13 x || +9 = (347 Sq.Yde.
- Sta.314+42.20 to 5ta316+3820 = 196 <10 + 9 = 218 SqVYds. W Sta. 15+91.49 to Sta. 16+04.81 = 1332 x 3+9 = 4 5q.Yds.
S1a318+51.76 %o Sta 321 +60 ' = 308.24 =10 + 9 = = 342 Sq7ds. Ramp No. 6 Sta. 5+55.10 to Sfa. T7+23.03 = 167.93 x || +9 = 205 Sq.Yds.
5 Sta. 323+03.35 to $ta.335+05.71 = 1202.36 x 10 = 9 = 1336 Sq Yds. T Sta.  7+23.03 to Sta. |11+78.59 = 45442 x 3 +9 = 5| S5qYds.
f K Sfa.3l_2+825|9 to 5ta.335+05.71 =2223.52x S5+ 9 = 235 Sq Yds. 0 o Sta. 7+23.03 40 Sta. 11 +78.59 = 456.99 x 8 +9 = A0T Sq.Yds.
(Sleb Bridge) Sta.26041049 to 5126043951 =~ 22.02x15 % S = - 48 Sq¥ds. NI Ste. |1+78.59 fo Sta. 19+65.09 = 78650 x || +9 = 96| Sq.Yds.
-33- = | Ramp No. 7 Sta. 6+84.65 to Sta. 19+00  =12|535x || +9 = 1485 S5qYds.
B~33- 3 Subtotal = 34,214 Sq.Yds. Ramg No. 8 Sta. 6+94.82 1o Sta. 12+ 19.22 = 52440 x 11 +9 = 640 Sg.Yds.
T I Sta. 12+19.22 4o Sta. 15+ 63.82 = 34374 x 3+9 = |15 SqVYds
e Sta. 12+19.22 to Sta. |15+63.82 = 34568 x 8+9 = 307 Saq.Yds.
TR Sto. 15+63.82 to Sta. 18+ 07.06 = 243.24 x [| +9 = 297 SqYde.
Ramp Ne. 9 Sta. 2+98.89 to Sta. 4+ 56.97 = 15404 x 8 +9 = |37 $5q.Yds.
e W Sta. 4+56.97 4o Sta. 7+ 59.44 = 30247 x |1 +9 = 370 8qYds.
8“33"‘3 Subtotal = 45207 Sq.Yc\s.
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